M = ¢(H?) L BX.

- ¢(21, 22)

o
o O O -
o O O
O = O O

-1
WX, f e Mi(Ty) B5IE, fIM € M (Tk).

B 3.5 (Hammond [18]) 4|M = O (3.1 O theta constant) T s|M, 6%|M

3.3 Resnikoff DR

X1 = —2712.3°5.572. 771, 53_143867('¢4¢6 — ’(bm),
x1z2 = 2718.377.573.772.33771.131.593(3%- 7243 + 2 - 534h2 — 6914h15)

L BL.
EH 3.6 (Igusa [27]) M(T3) = C[ts, ¥s, X10, X12 X35)-

EHE 3.7 (Resnikoff [41])

¢4|M = (G2)2a
PelM = (Gq)® —2°.3%Hg,
1
XlOIM = _2627
1
XM = 1—2—{2(H6)2—2G2@2}.

72U, Hg = 67(25 - 33 - 52)~1(G3 — G).
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